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Numerical Tests on the Exotic Option Pricing Models [1 8 [I
The Barrier Option Pricing Model(3)
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NB. Normal Distribution
stnormal=: (%:00.02:) (%~) "@-0-:@%*:
NP=:3 : O
(stnormal y)*y%(=“%‘+%)/,(>:+:k),.(x:y)*>:k=.1.28
)
NQ=:3 : O
(stnormal y)*%‘+/1,,y ,.>:1.28
)
Ndist=:3 : 0
if. 3.3<z=:|y do. gq=:NQ z else. g=:0.5-NP z end.
if. 0<:y do. g=:1-q end.
)

NB. Yamanouti’s Formula
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Ninv_y=:3 : O
z=.-".4xy*x(1-y)
x=.%:2%(2.0611786-5.7262204%(z+11.640595) )
if. y>0.5 do. x=.-x end.

NB. Normal Random Numbers
NB. Rndm_Norm Size Mu Sigma

Rndm_Norm=:3 : O
’Num Mean Sigma’=.y
Mean+Sigma*Ninv_y"0 (?Num#10000000)%10000000
NB.{.Ninv_bm"1 z=:(?(Num,?2)$10000000)%10000000
)
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NB. Barrier Option Pricing Model No.09

NB. J.Takeuchi Jan. 2009

NB. Usage: Barrier(09 data

NB. data is list ( 6 menbers)

NB. SpotPrice ExePrice BarrierPrice Term(Month) Sigma FreeRate
NB. ex. data=. 120 100 90 6 30 5

NB.

Barrier09=:3 : 0
’Spot Kosi Barrier Term Sigma Rate’=. y
Ter=:Term),12[Sig=:Sigma’ 100 [Rat=:Rate’100
m=. (BarrierSpot) " ((2*Rat%Sig~2)-1)
er=. -Rat*Ter
d1=.ddd Spot,Kosi
d3=.ddd (Barrier~2),Kosi*Spot
Cl=. (Spot*Ndist (d1+Sig*}:Ter))-Kosi*er*Ndist (d1)
C3=. (((Barrier~2)%Spot)*Ndist (d3+Sig*J:Ter))-Kosi*er*Ndist (d3)
C=.C1-m*C3
)

NB.

NB.ddd Numerator (Bunsi) ,Denominator (Bunbo)

NB.Usage : ddd Spot,Barrier

NB.
ddd=:3 : O

’Nume Deno’=.y

((~.Nume}Deno)+(Rat--:*:Sig) *Ter) %Sig*’: Ter
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NB.
NB.Simulation for Barrier Option Type 9

NB.Numbers Barrier_09 Spot Kousi Barrier Term Volatility Rate
NB.

Barrier_09=:4 : O
’SO KB T Vol r’=.y
i=.0[Smin=.S=.MM#S0 [MM=.x
label_L1.
if. T<i=.>:i do. goto_owari. end.
z=.Rndm_Norm MM,0,1
S=.S+(S*(r%100)*(1%12) ) +S* (Vo1%100) * (%:1%12) *z
Smin=.S<.Smin
NB. print S
goto_L1.

label_owari.
w=. (S-K)*(p=:Smin>B)
NB. w=.(S-K)

C=. ("=(r%100) *(T%12) ) *MM% "~ +/ (0O<w) #w

)

NB.

NB. Plain Vannila Option Model

bs =: 3 :0

’abcde’=y

t=. ¢ % 12

u=. (. a % b) + tx (el=.e % 100) - -:(bor=.d % 100) ~2

p2=. u % (bor * %: t)

pl=. p2 + bor * %: t

nl=. Ndist pl

n2=. Ndist p2

bs=. (a * nl ) - b *n2 *x( = (-el) * t)
bs
)
NB.
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Barrier09 120 100 90 6 30 5
24.1793



JAPLA 0000 2009/01/24

e IO OIOUOOOOOO
Barrier09 120 100 85 6 30 5
24,3964
Barrier09 120 100 80 6 30 5
24.4485
Barrier09 120 100 75 6 30 5
24.457
Barrier09 120 100 60 6 30 5
24.458
gdooooooodooooodgo
oo ouououououououoouoon
bs 120 100 6 30 5
24.458
oo
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Barrier09 120 100 90 12 30 b5
27.4263

Barrier09 120 100 85 12 30 b5
28.28

Barrier09 120 100 80 12 30 b5
28.6727

Barrier09 120 100 75 12 30 b5
28.8225

Barrier09 120 100 60 12 30 b5
28.8802

bs 120 100 12 30 5
28.8804

Barrier09 120 100 90 24 30 5
31.5252

Barrier09 120 100 85 24 30 5
33.4582

Barrier09 120 100 80 24 30 5
34.7122

Barrier09 120 100 75 24 30 5
35.454

Barrier09 120 100 60 24 30 5
36.0985
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